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Guess Paper – 2010
Class – XII
Subject – Maths    
Quick Revision Test  No  3 for Board 
Marks -50    Time 1 hour 30mts

Differential & Integral calculus and Applications 

I. Answer all  ( 8 x1 = 8)

1.
If y = 2sinx+3cosx then prove that y+ d2y/dx2 = 0

2.
If f : [-5,5] →R is differentiable function and f(x) does not vanish anywhere then prove that f(-5) ≠f(5)

3.
∫  
1 + cotx dx

         x – log(cosecx)


4.
∫  
1 - ex dx


1 + ex 

[image: image1.png]5.
-1/2∫1/2  cosx  log   1+ x   dx


        
                   1 – x

6.
Solve dy/dx = ex+y
7.
Find the order and degree of y = px+ √1+ p2 where p = dy/dx

8.
If the radius of the circle is increased from 5cm to 5.1cm Find the approximate increase in area.

II.
Answer all ( 6x 4 = 24)

1.
Prove that function   f(x)      =        x
    x  ≠ 0






         │x │+2x2






     =      k      x = 0  is discontinuous at x= 0 regardless of the value of k 
2.
If y . √ x2 + 1  = log [√ x2 + 1 – x ]  show that  (x2+1) y’ +xy+1 = 0


(or)    y = x cosx – sinx  +       5x





       3√ 1-x2
3.
Differentiate  tan-1(3x –x3/1-3x2) with respect to tan-1 ( x/√1-x2)

4.
Find the interval for which the function f(x) =-2x3-9x2-12x+1 is strictly increasing or decreasing. (or)  Liquid is running out of a conical funnel at the rate of 5cm3/sec. The radius of the base of funnel is 10cm and the altitude is 20cm. Find the rate at which water level is dropping when it is 10cm from the top.

5.
 -1∫2 │x3 – x│ dx   ( or) 0∫π/2    sin2x tan-1 ( sinx) dx

6.
Solve  x dy/dx  = y - √ x2+y2   (or)   solve dy/dx-3ycotx = sin2x given y(π/2) = 2

III.
Answer all ( 3 x 6 = 18)

1.
A poster is to contain 5ocm2 of matter with borders of 4cm top and bottom and of 2cm on each side. Find the dimensions if the total area of the poster is minimum.(or)

Show that the volume of greatest cylinder which can be inscribed in a cone of height h and semi vertical angle 30◦ is (4/81) πh3 

2.
Find    0∫1/√2  ( sin-1x)/(1 – x2) 3/2  or 0∫π log ( 1-cosx) dx

3.
Find the area bounded by the curves y =   6x – x2 and y = x2-2x


(or) Find the area bounded by the lines x+2y = 2, y-x =1 and 2x+y = 7
“ Knowing is not enough; we must apply. Being willing is not enough; we mustdo."

Quick Revision Test  No  2 for Board 

Marks -50    Time 1 hour 30mts

( Chapters vector Algebra, Vector 3D, Probability and LPP)

I. Answer all  ( 8 x1 = 8)

1.
A and B be two independent events such that P(A) = 7 P(B) = 1/5 Find


i) P(A∩B) ii) P(A∩ B’U B ∩ A’)

2.
 If a = 5i-j+7k, b=i-j-λk Find the value of λ if a +b is orthogonal to a-b

3.
For any vector a show that a = (a.i) i+(a.j)j+(a.k)k

4.
Find the distance of the point (2,3,4) from the plane r.(3i-6j+2k) = -11

5.
Find the coordinates of the point where the line  x+2  =  y-5  = z+1








    1
      3        5


Cuts yz plane.

6.
 Find a unit vector perpendicular to each of the vectors a+b and a-b


Where a = i+j+k and b= i+j+2k

7.
Find the distance between two planes r.(2i-j+3k) = 4 and r .(6i-3j+9k)+13 = 0

8.
For any two vectors and b prove that( axb)2 = a2 b2 –(a.b)2
II.
Answer all ( 6 x 4 = 24)
1
Two cards are drawn with replacement from the pack of 52 cards. Find the probability distribution of number of aces.

2.
A , Band C throws a die continuously till one of them gets a 6 and wins the game. What is the probability of either A or C wins the game if A starts the game.

3.
If a,b and c are 3 v3ctors such that a+b+c = 0 such that │a│= 3, │b│= 4


│c│= 5. Find a.b+b.c+c.a

4.
If a = 4i+5j-k, b = i_4j+5k,   c=3i+j-k, Find a vector d which is perpendicular to both a and b and d.c= 21

5.
Find the equation of the planes which is perpendicular to the plane 5x+3y+6z+8 =0 and which contains the line of intersection of planes x+2y+3z-4 = 0 and 2x+y-z+5 = 0

6.
Find the shortest distance between the two lines r = i+2j+3k +λ(2i+3j+4k)


And r = 2i+4j+5k + µ(3i+4j+5k)

III.
Answer all ( 3x 6 = 18)

1.
A manufacturer makes two types of cups A and B. Three machines are required to manufacture the the cups and the time in minutes required by each is given below.

	Type of cup
	Macines

	
	I
	II
	III

	A
	12
	18
	6

	B
	6
	0
	9


    
Each machine is available for a maximum period of 6 hours per day. If a profit on each cup A is 75 paise and B is 50 paise Find the number of cups of type A and type B should be manufactured per day to get the maximum profit.

2.
In a bulb factory machine A, B and C manufacture 60%,30% and 10% bulbs respectively, 1%,2%and3% of the bulbs produced by A,B and C are found to be defective. A bulb is picked up at random from the total production and found to be defective. Find the probability that it was manufactured by th machine B or C.
3.
Find the distance of the point(2,3,4) from the plane 3x+2y+2z+5 = 0, measured parallel to the line x+3 = y-2  =  z





     3
     6       2


   -OBSERVE, THINK AND PROCEED -

Quick Revision Test  No  1 for Board 

Marks -50    Time 1 hour 30mts
( Chapters Relations & Functions, Inverse Trigonometry Functions, Matrices and Determinants)

I.
Answer all. 7x1 = 7

1.
Find the value of sin-1(sin(3π/5))
2.
Find the value of tan-1[ 2cos{2sin-1(1/2)}]

3.
* is a binary operation on Q such that a*b = ab/4, evaluate -2 * 7

4.
Show that the relation R in real numbers defined as R ={(a,b)/a≥b} is reflexive,transitive and anti symmetric.
5.
Find the value of x for which the following matrix is non singular.



1
1
-1



3
1
x


1
-1
-1

6.
If  (2,0),(0,5) and (x,y) are collinear then show that (x/2)+(y/5) = 1

7.
Using properties show that 1
a
b+c 






  1
b
c+a    = 0





  1
c
a+b

8.
Find a matrix X such that 2A+B+X = 0 such that 3A-2B+4X = 0


A = 
2
3
 B =
3  
4



4
5

5
6

II.
Answer all ( 8x 4 = 32)

1.
Write in simplest form


tan-1  acosx - bsinx

          bcosx+asinx

2.
Solve cot-1x – cot-1(x+2) = π/12

3.
If A =    2
-3  satisfies the equation x2-6x+17=0. Hence find A-1

            3
 4


4.
Solve for X if   5
4     X =  1   -2




  1
1            1    3
5.
Using properties show that    1
x
x2







    x2
1         x     = ( 1 –x3)2
   




    x     x2           1

6.
Show that     a-b-c
  2a
  2a

  


  2b     b-c-a
  2b   =  (a+b+c)3



  2c
  2c
c-a-b

7.
If f : N U {0} → N U {0}   f(n) = n+1 if n is even Show that f is bijective function 

                                                    =  n-1 if n is odd
8.
If f: R – {3}  → R-{1}f(x)  =   x -2  Is f is invertible. If so find f-1
   
                                         x-3 
III.
Answer all ( 2 x5 = 10)

1. The cost f 4kg onion, 3 kg wheat and 2 kg rice is Rs60. The cost of 2kg onion, 4kg of wheat and 6kg of rice is Rs 90. The cost of 6 kg onion, 2 kg of wheat, and 3 kg of rice is Rs 70.  Find the cost of each item per kg by matrix method.
(or)  Use product    1
-1
 2
-2
  0
  1



         0
 2       -3         9         2       -3



         3          -2
 4         6         1       -2  


To solve the equations x-y+2z = 1, 2y-3z  = 1 and 3x-2y+4z = 2
2. Using elementary transformations find A-1  if

A  =  0
     1      2

        1
     2
   3

        3     1       1
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